N\

b —
XalFE 4225 B R A PR A 7

2018 BHFHFE (—) HE GEEB
R CHHE
—. EFEE
LA, 7EX=0 gpoRmr S 2.
A, f(x)=|xsin|x]
B. f(x):|x|sin\/m
c. f(x)=cos||
D. f(x)=cos\/m
2.14#(1,0,0),(0,1,0), H 5 i z = Xx* + y2 A EI V- i -
AZ=05x+y—-z=1
B.2=052x+2y—-z=2
cX=yHx+y-—z=1

DX=Y52Xx+2y—2=2

> n 2N+3
3-%;(_1) (2n+1)1

A.sinl+ cosl.
B.2sinl-+cosl.
C.2sinl1-+ 2cosl.
D.2sin1+3cosl.

1+x 1 ™
4% M f ﬂdx K:jizﬁ(lJm/cosx)dx.mU:
2
AM>N>K
B.M>K=>N
CK>M>N

DK>N>M
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e

1 10
5. F pilaed, Hpe(0 1 1 AR
0 01
1 1 -1
A.|0
0
1 0 -1
B. 1
00
1 -1
clo 10
0 1
1 -1
D0 1 0
0 0 1

6.1 A By nEERE, 0 r(X) JERE X MRk, (X Y)FoRMHAmERE, Wl
AT(AAB)=r(A)

B.r(BBA)=r(A)

c.r(AB)=max{r(A),r(B)}

p.r(AB)=r(A"BT)

TRBEHLASR X R 00 A+ = FA=X) . B [ f(x)dx=06. Wy <0} -

A.0.2
B.0.3
C.04
D.0.5

8.t X HRMLIEAS o N (10, 0% ) X X X R RO X s AL RE 9 2 e AR 0
Ho = ttg, Hytp = pg. N
ASNRAER KT o = 0.05 THigs Hy . I ALEMBIKT = 0.01 F s Hy.

BANRTER KK o = 0.05 T4 Hy, TBATERT /KT o = 0.01 F 452 H,.
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CHIRIERK K KT a =0.05 T2 H,, AR KFa=0.01T®BiE%H,.
D BAER KT o = 0.05 M2 H,y, MATERE KT a=0.01 Tz H,.
—. ETH

1-tanx
1+tan x

L
9.?{%Iim( ]kx _e, ik =

10. BB HL ) B 2 SRS 4, 2k y=f00id i (0.0) L%k y=2" 264 (1, 2) Abhes), m
[0t (x)dx =

11.% F (X, y,z) = Xyi — yz j + zxk, Wrot F (1,1,0) =
12,45 L BRI xP+y?+2%=1 5 P x+y+2=0 (1352, N $ xyds=

13,42 2 M HE AT R ERFIEAE, o, @, 2 A I E TR IE R, LAYy + @)= +

14 HFREHLEAE A 5 B IS, A5 C BT,
BC = @47P(A) = P(B) =%, P(AC | ABuC)%,)”JJP(C) =

=, RERS
(15) E%I%’Wz\je“ arctan+/e* —1dx.
(16) —iR%48 7K 2m, BB =&, I lE. =A%, EhE, X=EB9HmNEKE SR

AR, FFRIZER/ME.

(17) WY x =/1-3y? —32% , IUET, ﬁ%”xdydu(yg+z)dxdz+z3dxdy
“)

(18) WY +y=f(X)
CI) B F(X)=xH, R TTREREARE.
CID) 24 £(X) IR, ER D 5 FE A IS O B, 1220 At S 9 o 4.

(19) #HF{x,}, % >0,x e =e* —LiF: {x,} sk, Fklimx,.

(20)

BESETIRAL (X, X, %) = (4 = X, + X5)* + (X% +)° +(X1+aX3)2, Hipra 224

(T 3R (%, Xy, %) =0 ffids
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CID 3R T (X%, %) FIRLEE.

1 2 a 1 a 2
(2D BHaZEH, HEMHEA=[1 3. 0 |0[&¥&nZHi hmEB= 0 1 1.
207/ ™a -1 1 1

(1) Ra;
(1) R 2 AP=B [aTWi%E fE P.

(22) CLAIBEALAE FE XY M AL, L (X =1} = P{X =1} :%, Y M ZHON A B 4 A Z=XY

(I Recov(X,2Z);
(11D 3R Z oAt

¥

(B)Eﬂ%%xm%ﬁﬁﬁﬁfﬂﬁ%7}€“rw<hﬁwjp&fwxwhxﬁéwxmﬁ
o
HEEHREAR, O AT 055, O MBAUAMITENO

(1) ko,

(I kE&,Do.





